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n mwn: Errors in counting
a If: they come out of the pen in pairs, he should count them by twos
b But if: he counted them as one (one pair, two pairs etc.) the #9 and #10 are both “affected”/sanctified
¢ And if he counted #9 “ten”, #10 “nine” and #11 “ten” — all three are sanctified
i #9:is eaten after it gets a D (may not be offered)
ii ~ #10:is offered as 2”yn
iii #11: dispute as to its status:
1 »77itis offered as »nw and can generate NN
2 jam r #11is itself considered 7wyn n1nn, and N NN cannot generate another nnn
3 Defense (in n”7's name): if it were considered nmnn, it wouldn’t be offered itself (n2p R TWYN NINN)
d  And if- he counted all three of them “ten”, only #9 and #10 are wyTp, #11 is unaffected
e  Rule: if #10 doesn’t have the count “ten” 1py), then #11 isn’t w1Tp (regardless of what it is “counted”)
1 v’s ruling: if he counted them in pairs, or any group — even hundreds - the 10" of his counting is V1T
a  »¥p ’7. this means the one (pair) he counts as “ten” is V17
b A7 /7 the 10 to come out is W11p (regardless of his count)
i Challenge: from our mwn — if 2 came out at once and he called them both “ten” — both are pP>p1pn
1 Understood: according to »Rn "1 — because we take his count into consideration (#9 —his “ten”- is affected)
2 But: according to X103 ", his count shouldn’t matter
(a) Answer: 3NV "1 may only have intended his ruling when the pairing (or more) is intentional
ii ~ Challenge (to »38» ’7): X1 — if he counts backwards (10, 9, 8 etc.) #10 (his “1”) is v¥Tp
1 Answer (X37): that case is unique; in Persian, “tn” means “10”
Source for “sanctified error” in our mwn: kN1 - from v. 1 (extra wording) — both “real” #10 and “called” #10 are Dw¥Tp
a  Limitation (to #9 and #11): compared to “real” #10 —just as it is at #10, error must be adjacent
b Challenge: Xn»1 rules that only one of them can be an errant 2”yn
i Answer (X before 1y 77): that is w”ar3, who holds that #11 can only be wy1p if he is silent at #9,
1  Then: calls #10 “9” and calls #11 “10”
2 Reason: he follows nmi '3 (in our Mwn) — errant 2”yn is NN
3 And: he holds like his father (™) — cannot generate 2 mmnn from one j21p (> cannot make both #9 and #11)
R17: expansion on rule of the mwn
a  If: 2 came out at #9 (9/10) and he called them both “nine”, we have 1”yn mixed with 5
i Reason: #10 (the real #10) is wy7p without declaration but he called #9 “nine” (only 1 w11, pav which one)
ii  But if: he called both “ten”, we have #10 and (errantly designated) #9 mixed together since he called both “ten”
b If:2 came out at #10 (10/11) and he called them both “ten”, we have #10 mixed with #11
i But if: he called them both “eleven”, we have 1”yn and P5n mixed up together
1 Question: why did he have to add this last case (parallel to first)?
2 Answer: teaches that when both come out together, they are both w11p, even though #10 wasn’t 1p»)
¢ wN ’r without #10 being 1py), #11 should have no sanctity, per our mwn
i Defense (82772 77): that is only in sequence; if they come out together, no need for nw nvpy
ii ~ Challenge: coming out in sequence is explciit in our mwn; the “rule” must be there to include nnx na
1  block: rule is there to extend to silence at #10 — not n1'py >#11 not v¥1p
2 proof: Rm»1a teaches that if 2 came out together at #10 and neither came out before the other, we have 10/11
mixed — even though #10 didn’t have nw nvpy
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(a) Reason: must be that nnk na doesn’t require oW nVpy
(b) Block: in that case, perhaps #11 jumped out ahead, then went back in and they came out together and
he called them both “ten”
(i) So: #10 did have 0w nvpy
1. Challenge: case in Xn»M1 is presented as "nTp R8Y”
2. Answer: what that means is that after #11 jumped ahead and returned, they came out as one
(if) Note: this Xn»11 seems to go against »27’s position - “eleven” is not an npy (only “nine”)
1. Block: 727 only holds that position when he has lots of animals
a.  Reason: “qwy TNR” may mean “that’s one set of ten” instead of “eleven”
b. And: ra1 interpeted our case as one where has lots of animals, and his statement of “ TR
qvY” may be understood as “that’s one set of ten”
V  Conflicting rulings in mn» 1 — when 2 come out as #10 and he calls them both “ten”
a  78n77x they both graze (until they get a oin)
b 2xr7772: they are both brought on nam
¢ 3nn»1x they are both killed
i Answer: mn»a1 & 2 represent dispute between v”1/1117 whether we allow n'w1p to come to %1080 n’a
1 237 we are not allowed to bring a 127p which is likely to become 1 - graze
2 w”: we are allowed to bring 121p in spite of that concern - offer them both
ii ~ And: 3xm»M1is N 7 who holds that 7wyn myv is a nmnn and he also holds that nnn qwyn nnn
1 Challenge: ™y doesn’t follow that, per the answer (in n"1’s name) to nT "7 in our Mmwn “if it were a N it
wouldn’t be brought”
(a) Implying: that >" holds that 9wyn nnn is offered
(b) And: we cannot suggest that n”1 was answering only according to his own position
(i) Per: xm»a (nmin "1)- difference between “11” and pn%w is that DN can generate NN, unlike “11”
(ii) Furthermore: X190 (NPT 1 X190 OND) — extnds, from v. 2 - #11 as 0'n5>w, but not #9
1. Reason: nwy1p happens “afterwards” (e.g. n71mn), not beforehand
iii Rather: 38m>1 is referring to 2”yn in our day, due to concern for nopn
1 Challenge: if so, this is true even if one came out and was called “ten”
2 Answer: indeed — this is less obvious; when he only has one, we are willing to force him to kill it, as it involves
less financial loss; with two, 8”10 that he can wait until it gets a o — 5"np
VI Errors made by agent
a  If: he told someone to take 2”yn on his behalf
i N27 Dw3a 299’7 if he called #9 “ten” — it is W11p; but if he called #11 “ten” — not wyTp
1  Reason: these would be nnYw, which would cost him p1® ntn and 02703
ii ~ ~99 7 even #9 which he called “ten” isn’t w¥1p —
1 Reason: dispatcher sent him to repair, not make things worse
(a) Question: how is this different from dispatcher who sends n'5w to take nmn; if he takes 1/60 or 1/40 (all
within legitimate range) valid, even if 2”nya takes a different amount (cheap — 1/60; average — 1/50; ge-
nerous — 1/40)
(b) Answer: some give at each of these amounts and agent can properly claim that he estimated 2”nhya at that
percentage; but here it is simply an error which, in the case of a mYw, nullifies the mn9w and the act
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